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(1) X*+4xy+3y* +x+5y—2
(@) 2x*+xy—y’ +7x-5y—4
(3) 64a’+b*

(4) 81x* +32x*+4

2. 1. koOXZERT X, [%24]
(1 (a-3)° 2 (2a+b)’
(3) (x+3)(x*—3x+9) (4) (2x—3)(4x*+6x+9)
FE KELRW IS HEZ LR EXL-o T D28, O2F b ENTI,

1. M@ — P6m19 @@ - P7Tmo21
2. (DQ)—-P7—22(1)~4) (3)(4)—P.7—22(5)~(8)

<(Challenge!?> (% +5x%)
@Da*+a*+1-2ab—-b’ @ Xy —x2—y? +4xy +1

@x*+x?—2ax—a’+1 @a*-3ab-b*-1
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<(Challenge!!> fRZ&
Ma’+a*+1-2ab—b* = (a®?+1+a+b)(@*+1-a-h)
@ X2Y? —X* —y? +4xy +1=(Xy =X+ Y +1)(Xy +X—y+1)

@x*+ x> —2ax—a’ +1= (x> +x+a+1)(x* —x—a+1)

@a’—3ab-b’-1=(a—b-1)(a*+ab+b’+a—b+1)
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